o(0 @) (rad)

1072

1

10

Rat

SICEWATL

=
S

oo

iy

0.95!

-1 0 1 2 3
TP n (PCA to beamline)

-2

(o0 L

a(o cot(v))

10

Rat

103!

iy

\*H}H+++++;w*+++mm+++*ﬂ+w+++++++H

0.95!

-1 0 1 2 3
TP n (PCA to beamline)

-2

—=— DQM_mkFit_XiMinusPU_retrain2

—— DQM_mkFit_XiMinusPUold

1072

Ratio

0P /P,

FRVe)

lﬂ-‘-‘++++++-+§}+m+{“4++*+++yj++w#+++fw+ﬁgﬁ++++w*
0.95 ; . ; . .

=3 -2

[any
S
i

-1 0 1 2 3
TP n (PCA to beamline)

T e

Sk p—

-1 0 T2 3
TP n (PCA to beamline)

z

oo a,) (cm)

-1 0 1 2 3
TP n (PCA to beamline)

-2



	Contents
	Page 1


